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	Parameter
	Bits
	Pos
	Min
	Max
	Formula

	Mode
	3
	0
	0
	7
	Fixed = 3 (011)

	Observation time 
 since 1st of January at 00:00
	16
	3
	0
	16382
	Hour (UTC) = n * 0.25

	Air pressure
	11
	19
	850
	1054.6
	AP (hPa) = n*0.1 + 850

	SST
	9
	30
	-5
	35.8
	SST (°C) = n*0.08 - 5

	Pressure tendancy
	9
	39
	-25.5
	25.5
	dP (hPa) = n*0.1 - 25.5

	Submergence count
	6
	48
	0
	100
	Subm. (%) = n * 1.6129

	Battery voltage
	6
	54
	10.75
	16.95
	Vbat (V) = n*0.1 + xx


	Iridium transmission duration
	8
	60
	0
	254
	SBDT (s) = n

	2nd Iridium Tech. parameter
	8
	68
	0
	254
	See table 2

	GPS fix time
 since 1st of January at 00:00
	16
	76
	0
	16382
	Hour (UTC) = n * 0.25

	GPS Latitude
	20
	92
	-90
	98
	Lat (deg) = n*0.00018 - 90

	GPS Longitude
	21
	112
	-180
	197
	Lon (deg) = n*0.00018 - 180

	1st GPS Technical parameter
	7
	133
	0
	126
	See table 2

	2nd GPS Technical parameter
	4
	140
	0
	14
	See table 2


Table 1 - Dataformat

Columns :

· Mode is used to describe the type of data. It serves to determine which format must be used for GTS data. Meteo-France convention: “3” is used for buoy data; “1” for ship data.

· Column “Bits” : length of the word in bits for the parameter;

· Column “Pos” : Start bit in the message for the parameter;

· For some parameters, “Max” is just an approximation;

· Values for missing sensor or computation should be “all bits fitted to 1”;

· Total length of the total version 3.2 message : 144 bits i.e.18 bytes;

· Message length may be shortened if the last parameters are not used. For instance, a SVP-B drifter having no GPS may have 8-bytes long messages.

	
	Vbat offset
	2nd Iridium
parameter
	1st GPS
parameter
	2nd GPS
parameter

	Marlin
	7.00
	Unused
	Nb of GPS satellites
	Unused

	Metocean
	10.75
	Unused
	Time to first GPS fix

	Unused

	Pacific Gyre
	7.00
	Unused ?
	Time to first GPS fix2 ?
	2D or 3D GPS fix

	Suggestion
	
	Iridium transm. retry
	
	


Table 2 – Manufacturer’s choices for technological parameters


 The offset may vary from a manufacturer to another one (see table 2).

2 TTFF(s) = n * 2

� The offset may vary from a manufacturer to another one (see table 2).


� TTFF(s) = n * 2





